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1. Determine how many real roots each equation has. 1, ... /. D = b -4a ¢

a) flx) = 2x% +11x+5  [K:2 marks] b)y—*ﬂwz—k-l‘l:i‘-l—'.’r [K: 2 marks]
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2. Find the x-intercepts of the quadratic function. Round answers to the nearest
hundredth. [K: 4 marks]
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3. Rewrite each quadratic function into the vertex form then state the coordinate of the
vertex and determine whether it's a maximum or minimum.

a) f(x) = —=2x* +16x—3  [K: 5 marks]
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4. A missile is launched out of a silo buried in the ground. The height of the missile can
be approximated by the equation

h(t) = —5t* + 35t — 30
Where h(t) is the height, in metres, and t is the time, in seconds.

a) In which form is this quadratic function expressed? [A: 1 mark]
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b) Write the function in Factored Form  [A: 3 marks]
wl€) =S € 35¢ -30
= - 5'(62—76 té)
; - (e

:"S((/’z-—éi—éé ré) = %6

P;‘i‘-"g_l_‘_ S Lo

gl b £ (Ilg)  *

12 (3) &

G g T #eG) 5 i iny oy

ce M) = -Sle-1)(€e-L)

c) Write the function in vertex form  [A: 3 marks]
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Rewrite the equations obtained from your answers to the question below into the right

boxes [A: 3 marks]

The function in Standard Form

/’Z (¢) = -S¢ 435430

The function in Factored Form

wlt)= -S{e~1)(¢6)

Using the equations in the boxes above, fill out the boxes below:

c) The h-intercept
[A: 1 mark]

d) The zeros (aka: t-
intercepts) of this function.
[A: 2 marks]
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e) The coordinates of the
vertex. [A: 2 marks]

f) How deep in the ground
is the missile silo buried?
[A: 1 mark]
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g) How long will it take for
the missile to reach ground

level? [A:1 mark]
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h) What is the maximum
height of the missile?
[A: 1 mark]
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i) When does the missile hit
the ground?
[A: 1 mark]

s

€ ¢ Lwl <

j) How long does the missile
take to reach its maximum
height? [A: 1 mark]
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k) How long is the missile in
the air? [A: 1 mark]
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The function in Vertex form
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) Graph the function of the missile using the answers you obtained from parts a) - k).

(Hint: You would plot the points that you used to help you answer parts c) to e))
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5. If one of the roots of 2x*+ bx - 16 =0 is -8, find the values of b and the other root.

[T: 5 marks]
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